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lLet —5(—, be the mean o& o. éample Oé

> . variance
&Tom (o8 populatcon with mean H, and

pendent ~sample

and

Size n,
0'}1 and let X, be -the mean 06 an inde
i 1 mean Hz
06 éf'ée n, «tmm another 'POPulCltlDr) with

. . -
undey the hull hypothesis Hy = M

- 2
Vvariance o5 . Then

the -test -~Statistic will be ,
Z = -i‘; . XJ.
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Note :
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:[_‘6 6~ and g, Qre hot known and 9, #F I; ,
! 2

& and Oz can be am)roximabed by -the -Sample 5.1«
2
. !

o7 and 9 . Hence we have,
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P.e
|~

a;  and 0'3 are

o~
(_—

evyal and not Known , then

2.
(,S’{ = 0 )

2, 2. i
5y T % le)rﬁ'oximaeed by & = N,#5 o+ ¥y D2

n’+n1,
Hence the test - statigtic s given by,

Z 1l , ~a N
e Ilne LSamples QAE

—_ | f

2-
2 '
\/6’ -+ 602 / ‘g'?Om “Some Popuiolion

n, ”;

Q\; A ,\‘)ample o& hoiqhts o& 64.00 [fn.(]fir;hmen has o

mean oé Y0 em$S and a S 06 b. 4 cmg , While a
e 06 heights 06 lboo A;ts'haliarhs has a tean Of
7@ ¢m and a Standard deviation og bL.3 cm. Do the
data indicate that -+the Austmalians ave on the

avemge taller than -the Englfsh men /¢

Solution :
e
Griven : '{f_nﬂ[ishmen - h, = b 400
A
x, = (70
S < 6- 4 Cm
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Austryalians

n, = lboo
X, = 13
/5,,2 = 6.3 cm

L"g” hypothesis : K,

e

Australians and Engl:‘shmen have

the Same mean height,
E'Q'} HO ; P' == },(2
7 " iled +est)
Alte‘rnative thEOtheer s Hl . !‘l& > Hl ( ’R’ght,kal/

levej 3& Sign?&‘cance : Ab =% 4. 5 Ly = V- 645

Test Statistic :

ﬁi— "’/5.12
", n,
7 = 30+ 132
G —
fe.4z+ 6.3
6400 lboo
= —2 X 40 .3
e
\l 40-93
2] = 3
“Decision :
] i . data
Binpe 1zl =385 H, 15 YeJected. e “The

indicate that the Austmalians ave ©n the average

talley than -the Englich men .
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(ld/ In a Certan 60((0)4} there are fwo 'WJ@]/WJJ/-

VT ] 1o g Overaqe
Processes nnmuéactuvmg the same item. “Th 9

wqijht in a Sample og 1260 iterns Produced jgrom
One process 1S %ﬂund +p be a0 03 with a SJ cf
ld 035 while he cow%pondinj 6,'9(1%3 in o /SOmP;'G
05 400 Items ﬁvom the Othen process (e 134 and 14

Obtain the Standasd €40y 06 diégexence betuwezn

the +wo ~sample means . Ts hig di%@w)ce ‘S(?ﬂiﬁ‘f[{)f/t—?
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«Solution !

Grive : . = " < e Vol
Suven ']‘ = 2650 . T o 120D -5, =

5 - do not 4!
Null hypothesis : H, : The -Sample means "
.-;:’vian}'ﬁ{cuthly s iy Mg = P = P

Too - taited
Altennative hypothksis : H, = Fu 7 pz Lo

7 = =96
Level of Signiffieance : At ol =5 ¥ s T

Standavd Ervor -
SEEpa A e,

= — S S
$~E (’)(, — X2 ) = _,_,'———'4' =
n, n,

[s.c = t-034]

—Test Statistic -
e

-_—

-—

Wy — T
s I
S
n, n,

= 120—124

Z =

l-0354

i iR W

16MA202 & Statistics and Numerical Methods P.GOMATHI/AP/MATHEMATICS Page 5 OF 7



:DCUS;OH .

Since 1zl >3, H,

that there is .6i3”i[)‘l'CCU1('

SQ mple means
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is Qejected . Hence we Conclude

d:’é&evence between the

” @ Test the /‘Sffi”;bfccuwe 08 the di“;arence between

normal
the means 06 the Samples dﬂaw'n 6rom two

2 lopwin
Populations with the Same SD %‘Yom the {{" g

data:
r ” ¥
Size [ Mean ] L. D ;
-
Sample | 0o 61 4
Sample 2 200 b3z L
Aolution
B
GIFVQI’\ 5 n, = 100 p i—, = 61 P /5, = 4
R
n, = 200 X, =63 , S8, =6

Null hﬂgothesfs s
the +twoe Normal
tith the Same

Altevnative \'\H pothesis :

Yevel 3& Signi&fcﬂnaz :AE =5, Z, = 1-9¢

The ~Samples drawn ’6Tom

U £
POP,_”ab'QM haVQ the ~Same mean
\Sﬁ. ;'e'/ Ho ,’ll :HQ_

H @l F Pa (Two-tailed test)
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leat Statictic:

= 61-b63 . = O

(120 = 302 ]

S o —the
oy gsion ; e
S 3, Ho I8 &?jected ./rﬁeﬂeécﬂ
Since 1ZI = =2 7 lations do

ﬁ*om +he & novmal POPY

/60.""P|e/5 d}GL.Un
ean —l:hOugh they oy

not have the same AL
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